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Manipur Board Class 10 Sample Paper 

SCIENCE full Marks-80 

Pass Marks - 20 

Time: Three holll'S 

Answer all questions. 

The f igures in the right hand margin indicate full marks forthc qucstiOrL5. 

SECTION-A 

CHEMISTRY 

(Marks - 26) 

Answer Question Nos. I to4 in a sentence, a word, or a phrase. 

Name the organic acid present in cabbage and green leafy vegetables. 

;a'1!1' <:I.1li('.lm <!mW ire-xC!W mritm• !l11w ll!'�III' crr,1'11 q urm ll!le'l'c'1 

� "<'l"J5 <!il"l� >r-l l -bT-<�111=iTllf-!� 'lil"3'n --s-;ftf.r<> � ""t -:m!� <'lot .. , ? 

:-lal-!C0
3 
reacts with both HCI (acid) and NaOH (alkali). Why?

N:iHC0
3
c HCI (<lI"Mhr) U('.lm NaOH (<nz<!I) II' ;a'111c�m 11'.m ,c",;a llM'fll"l'c' ? 

NaHC03 'IT HCI (.JJf>K.) '«'l'i.� NaOl:l ("5161'l>lf61) '11 ��'fl«���'<:! '8� I��?

Name a process for converting mercuricoitide to the liqtud me1al. l 

11iB"ll!8'flll' CIMli'Ml!;liJ!! 11i"1 lll'li1I lli'l1�1i <l!'U:RJII n'm <mnvl llillifm � 11 

tN� �"1 � � C'1&61�1 �'fl Coil� '5f'lm '!flit� I 
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4 .  Alloys arc u,ually harder 1ha11 1hc pnrcm mcials. Fore:,amplc. s1ccl ,s harder Lha11 pure 
iron and durahnnin is much harder than prn-c: aluminium. Name an ;1lh>y whit:h is an

cxreptiorL 

111•c':\s ::.!h!'<".lf Ii!! Mrrri Jliffcr,.Jii r..•n:J�!nr.ir :;5•o;c 121�nr l!l"loJSllU:tcr 11 �1m a'� Ql.Yr� utMf IJl't'l•m" 
n•�;p,t riR? izr-i�r <rlf.<:?ID �e'-l_lliT(;C Q!•�i.t!!rnafl'l"f rir.e ;,�c ia�l?l I CtrlP lil'.Mtn,r i;r>ge-ileg 
1tt•c's im.r-1 urm :il?SJl r 

<tcC,ll) '<)ll�;>i ··� ><ri¾1 >l""S:-"(3�<11 C'lU"\1_•� -�m � '8��1; I �',)) e� f>\iO'f -'<>i 
'?.lf."!� C'l'<t;::;l:ll sljjl <:>Thi ·51�'J5 �<l!oif.:m -s"foif.'i��ill! ll!,;1 ('�:ii ,:,fi; If;@; �f,ilin -sil-

7.'IC':'f-4i >!.?.a-:��� ��t �r.c..1l I
-

i\nswcr Quc,tion Nos. 5 lo 8 in ;\bout 30 words. 

5. Describe the r ormmion of 1he chemical bond between an clement Y (atomic number= 7)
wi1h X (atomic number= l ), 2

JZ!i"�!' Y i atomic number =7) =<:!O X (a1om1c m1111bcr = I) 'uC1'11'1 lntl1ll'l> Q!l"!!,f12:-:l g�11
M'ITT11"T i'ID'lll ""! Ml1'!l'ac $llll'J;I O

�'-'ff.'!'U Y (alomic 11u111ber = 7)=1� X (atomic number= I) G!f-l:m >T.<R!ol C'l'f.,,a;;,;i �
C"l'>.� Coli-S�� ••t•11'&l � I-

6. I If :111d H20 are polar covalent molecnlcs. lllusll"!ltc 1hc pos.<iblc intcmc1io11 (aurnction or
1cpulsio11) bc1wcc111hcse 1wo molecules. 2

!IF crr..<:!m l-1
2

0 Mr ,m•;!a- 0'•rc:·G1l' ,;'cfllll!l,Mrwet, '°"" "'crir,r ;;;ir-11m a',;;i;'arn rii

�t1Dr>t� C� �'11\t!fCOoPf J.\:r\3lii C?ffV);(! J1ani I

HF "-'•>i� H Of.- ("!J5rai C<'l�'\, C11rrff""aji<,if;1 I -S!('!ill <Qf;i� "111� -S°?;C'lJT<J'il �
• l �, 

fs�� -;J�;Jl'ifl ��•Jil§'l�I C�'(!� �� � I

7. Draw and label the cxperimenrnl set up 10 show that dry I !Cl docs 1101 hn,•c acidic
propcnic..<.. 2

JIMra, ""'"1 I !Cl Mr Jtt"(')f�11!1r •;11!" J(•c;�• ;;l,;.iMr l<'>!!t RlllA'lll �ll'r 1.1-<a� JJlia,:,;'{Jlll ,;n

t:r� n·:wcWJ !i"fm Z!.t 11 

��� !H-S'Rl I !Cl f.t '1� •� W-"i �!1t ��;:<:;"6:Wft «fn "'!,<� ��'11,-.:!��

c��n ,,;._� -,,l(S
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Comple1c lhe re.-ie1io11 by ldcutifying A and B : 

.-\ =m B 11 11.<'lar >iarl11! ar�-m mt ntm ml! :.. - - - - ... 

170'C 

HBr 
A----

Answer Quest Ion Nos. 9 to J I in about 50 words. 

2 

r\n ntom of :m clement Z has 22 ncutroos and 18 protons in ilS nucleus. \Vhm are the 

11) .\1ass nwubcr, (ii) Valcmcc electron and (iii) Group number ofZ '? 3 

Z iln �"'11 a;;;;a1 i:t"l'I� CIDlf �= l:IJl!ll',f 22 <3lli<,m ,;w>p>g IS lla111 Z IZI 

II) 1¢<"> C"lfO', (ii) 'l'i!'W(') � �Ill. (iii) eJ:)i c•afl' ;,Ile> l

Z ·� � � .!lt", ,:rllf,jj •!)(p>i..,I •l)�t•, 22 � C� 18 111'4\ I Z � 

<i> ,w; �imi, (ii) C'St""P>f �•1�1 .. '<W.f.� (iii)� am � ? 

\\ 1,y is carbon reduction process no< used in lhcell.Seof rnnng:mcse diox.idc? D=ribe lhc 

reduction of manganese dioxide. Gi vc lhc balanced equation. 3

s·:irN:lt nc,:'ttrrl);>lllf �1r1'arc m11= J#I rillS'II uraorc>11,'llrtkl'l llli'lMIT<-ll>I! Bf•�

Jl"ff,r :t."n 11!! r>:11&'m'c >in, :c'm itll'wr ,squJ'(')(!I!! "1J, 

c::'11�� 151��� <:'lc4lii! flil,� � ll!W<!l >ml� ? (11'11f.iGi "'�� flj._,'§1., 

��Iii) tii!l« l511 "1C"1lll'I � I CO/!� 111!ill<ll \ti!>>i°'t �'l I

Describe two reactions 10 prove that oxidation and reduction reactions occur 

sun,�u1ncoosly. 3 

tt'=l'1N'l"' u<,m 8'/li!iffls 11t<">r ...,. lllliilTar :c'a7J. ,h;mr D'<Clf a-rllr= m (')(lfllTC 

iiara 11 
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Answer Question No. 12 in about l 50 words. 

12. Vl'hat are isomers? Describe with suitable exmnplcs the types of isomerism shown by

(i) Alkanes and (ii) Alkenes. • 5 

od11M'im<'lr1D �(')r lil!ll'Tc' 1 (i) liI'lll!l"Cll <ltlli('.!III, (ii) <!l,ll!ITC!l(')lliffl J;"lll(!! <ill;('))liB'<')rlII !'llllalTC 

slll!'ll ft

G!�C>il�l!l"l, �W4Pi s'l!lit-tl ? (i) 1!11•1t"5-1 �� (ii) GileiR<.tf"l� �"'1<11 l?.l�l>ll��

•JC"ilS'I :.,1,qs:S I

SECTIO,'; -B 

PHYSICS 

(Marks-26) 

Answer Question Nos .  I 3 10 16 in a word o r  sentence each. 

13. find the resistnnceof a bulb whicJ1 is marked as 220 V • 100 W .

220 V • I 00 W t4 11,is III!lill"I S"d'�•CJI(') ll!¢all u

220 V -100 W "IRI � =llil Cl!�-<t·> I 'l_l:� I

14 . Differcnriate between Hyde! power plant and Nuclear power planL

�lS!l''I llRTtO' l!Ill@m <l111o('.!m !:l,!1111l:IIIO' mlru!' �l!llllll!r li'll!l!lf liJ! II

�l'1ei � :fl'U �t �;!;Jp!(g -ram to'tll/il � �

15. What is astigmatism ?

16. Giveoneexampleoffossil fuel.

E'MR El!"'1Fi' Alm IIIlli lllll'n I- - -
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J\.ru;wer Question Nos. l 7 to 20 in about 30 words each. 

Distinguish between a current carrying solenoid an<.l a bar rmignct by giving two 

points. 

mi'= lllt!r mtf9'11" � ll]!is m"t!'limio x,u,rw. n'-'lhrrll' w= lill, 

:� �f.i �,;o <mi<u 'fl1 c>11t<1t;,f¼q;1 �"'iiG� cm��,;r, c= �'i 

� How is a ti.L'>C wire differem from a copper wire? Give two poillls. 

s.llZ 118' lll:Mrc lll!'la8' ll8'1iltvr fll!8'ITT! (')"l!:t!l!ll""? llll'Jil!lll l!Il!r 1ml� -

: 9. Draw a neat k1bclled diagram of a d.c. generator. 

d.c. l·(!"8"':1'8'll'r Ml!;lll'Mrm Rill Jb;c Il <Jre(§l! J!:'11Wlll' IIIlli !1"11!!911

d.c. (.�C•!C��1m "l;M>fxi, llSl � 'ffll W'TR'll :[�t:�� �

2 

2 

2 

�I). Mediwn I and medimn 2 have absolrne refractive index '1
1 
and 11, respectively. Prove !hat 

the relative refractive index of medium 2 w.r.t. medium I is 1 11, = r1/ 11,. 2 

lli'lir!l" I <1Illi(2W lli'llr!l" 2 nvf fiiMr'lc 'IMl'M"s'11 ll'f�!rlll7'r'1 :;ll!Jl"lll'(") <a:Mr '1 1 <1Im(2W 'l: Cf II

:."flrn" 2 II' n.•l!rn" l1tv n'lllc� i:r'lill':lilS g,r=r,, g,r�r,, m-M•IIJ'(') lltMr ' r1 = 11. / 11, er
l • 

;<�isMr �A.II !I'll! II 

(.>l[i;�;r I '5/�'J., C>qf.r!l� :/. li!I "ll'l!��"il JMC>il"JI� � �"r;l l!W, '1 1 �� 1 12 f,) I 

,�fil�:., 2 "11 � l "11 CT,�.('1• �� f,lu;,fG:i, � � � 1 11, = '1,I 11 1 f.i

�lMl>i ]!:..'\ ��°! I 

Aoswcr Question 2 l to 23 in about 50 word� each. 

� 1. If cu1-rcn1 nows along" horizontal L-Onductor in we.,110 east direction. show tl1e direction of 

magnetic licld m poinis (i) direcLly above (ii) directly below and (iii) directly nonh of it 3 

11!18'11J!:W5 ;;o�mP"� li!lmJilll'l"ll' = "'"�""'""' e'mi;.,'w'2'1rn IIW"mll x-«:3111. ,;;<-l1tvr �11 

fli"u"C"llhll' E1'�1lll"r Ab;,a li'ls II Ci) 7'"11' fli�lll'o• (ii) 7'"fll' Aillll U(2W (iii) iilnvr "17lwe'��' 

�� C�i��t1tw-'! ..-•'&ll � c-r!�� C'll�'ll<!>O'illl'rl g,uf'& C�!:!<li<f, "ll'll� C"IT�'W'l� 

Ol•ft-11'(;� N';S� �t<f' lS�oj (i) ey-:.�, (ii) � � =>j� (iii) 'l1lilfl ;!il';l!�t'-'il�ijl I 
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22. Find lheposition. magnification and nature of an imagcfocmcd wben a 2cm high object is

placed at a distance of 15 cm b1 fro111 of a convex mirror of focal lcnglh 10 cm. 3

2 cm !11111( llll'-'MID' ar11, E'lm•� i!'lllJ I O cm � llll!!f'1'1D'M llifll'O'nur 11,a:ml!! l 5 cm �IITT! m'!l!!

M'l!clll'lll! lilli"Zll"r llli'?:frnr, Ri'll"{!fElll!l"M!!f &MIii t!"IW JllWIJ'il II- -

2cm111�<n ("11�"1"<$'Slil 81>1c41'ii co;� IOc1u�1 <(S.ll<.S'lil �lln �,r,,i 15cm'<'!!� '1f'l'il

�'11 � C°llf¾•R, �"1f.1fik<t>"M �� c-w;i 'l_c� I

23. How i.s the use of non-convcnlional sources of eucrgy advantageous over the use of con-

veational sources of energy? Give three points. 3

t! l!l -ll!f!Pl'IJC'X!"I �f M'lt.\?MfCl Mfci'l!ll!1rt! ll!f!!fll"G<'Xl"'I l>l!B'Zfll'f M'�MrDJ Mfzrmt!'!Jlll"I'

ll!f8'lre lpl'lllRTII'' 1 llll'ml' �� Jlltfl! I

Answer Question No. 24 i1\abom 100 words. 

24. Define resistance of a wire. Write lhe expression for equivalent rcsistnnccs of two resistors

RI and R, when lhey are connected in parallel and in series. In which case do you gel an
equivalem resistance less than each of the given resistances. Write the unit of resisnvity.

1+2+1+1=5 

!lim8' arJlttll'I 8"'1:fMJl"l!IM ll!f8'te' m.'l_! 1 8"ci'Ml'fl' i:rer R, -� R, =r JR'fl"'M1f QI'![1II' IIIlli<:!111 

(?'8'(t11 �Ill' M-1 1nMrll'r ,;imn1>1-i:!•l'l" 11"'1:fMll'!!fM ar J;lllFM(!! <IIl'.?1!! fill 11 11!!8'� lllf'Ml'

� lll1'11'11c.fg fl"'ZIMJl'!!f(')(ll)fflf'I ;,m;n i;im3r�•!!fl' B"l:IMJl'GM EJ; II fl'°l:((')l'f'lfJllll'f :imm 

lSJ! II 

ll� �11\'1 ���� �l•ll � 1 fil� l:4f.'i R, �� R
2 

� t"IIC�t.6fo1'il � ��
,:,;r,i,...,, � "l;t4fi\ �� �E>C-:;r.<i't f,l�°E'>I � \t.i;:,;., � � 1 'lw.!1 cq;:,;<.!/1 'l?l.l!l'I

Rll�f.MI (ilM!CE�R� � � ��tE'>t <i'Q I �11\'1 �� � I 
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SECTIOi'i-C 

BIOLOGY 

(Marks-28) 

Answer Question Nos. 25 to 28 in one sentence each. 

What is tl1e role of Ozone layer of our atn1ospherc?

iir:ii'7'fPI lll''"•'MEfriO'(JVt <!!'Z'ISIM �'mPI r./ lmS'tt!' ?

�� ��� &<!il'11/il 'f'!llll� ".i!t'11 <1mt•!I '? 
26 .  Stare one point of difference between autotrophs and hetcl'otrophs. 

<II'l>'ue 11M(2111 -�, ll,ll'lll'l1 � mt>= ff mil! 0 
'(!CulCQlli' �' C�c'B(.11�1>1$\ >.� � C�'ll '5l'Sl1 � I

27. Give one example of homologous organs of plants.
mlITTrfMIWI "'FM'(') nnil1mfllln,,r 1!111'1 ff 11111,! 11 
"fl�� C!(!t�ICotl>i>! {3$#1,1/il "J.'l1f 151.1 � I

28. Why are men regarded as omnivours?
llla'lll"tm!illl' SC'lfm'! lll'Ut!l>r'ao<-> i<R �l'Sl!' 1 
��1r�q; �P'I� --s�f.lc,.,1>( � c<'il•IM4till ?

Answer Question Nos. 29 to  33 in about 30 words. 

29 . Cite one function each of Cytokinins and ethylene.

<'>li>'�l!f <1Ili(2111 &RIISIP't d 81-11 "lll.! I I

>il��-$�'1 �, ,�l\f61.ili\'t � l!lllli'� '{l�!l_ I
30. Describe tile kinds of Narural Resources.

t!"RB"'l ll't<'l'9'(')ll!ll lli1.'l(')flll � M&li'lll'C J»l I

c-lbi'lo\ filt>il� �, � "lC"i1:l'1 � I

I 

I 

I 

I 

2 

2 

31. \\'bat would happen if :>tylem 1issues were removed from the stem of a plant? Give two

reasons. 2

lllimrr mrll"1 l!;Sfllll"I' tlre"1. ,..,(')(')rw e'hcm zll'r <n'n nnv-1 11,e-u <11cr>1111· mtr1u- -
-n� �1/il w� 'lli�COlll li!'Ff, C¼iltonp-;,;fil <l'ffl � imrc,;i '? 1flrll l!lf.1>f'11 � 1

32. A pea plant tbal breed tree for yellow seeds w3scrossed with another that breed tree for
green seeds. All the seeds in 1hc F, generation were yellow. Work our the inheritance
involved in th.is cross by using symbols for the traits. Which trait was dominant? 2
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=' ili1!1r'r l!.'!(')rm <!'! l!1ll! Rl>"m'fflt ;o��lll' iulim Ull' m>"mmt 11t<?8 �, ll<f!'MflD �. 1iITT! 
xll"'m'llltll"' 'l!Jl"M 11'g,m 11 F ecncration 11 = rntrrci.-111' C�G R.Rl tlmt i,;x trl'SS'lflif u

1- ,,. - - - -

lJIW(')fumor m1rar.i Mtzrmt!1_!t! WM !11'.Ml>i rt� lt8"� (:18"::l i:tS'll!"llt st�• 121!!',q u-11c 
�>i.ri!= <II� i 

C!Will -:n;:jjj �, � � �-�� �-n "<t\5;� 'W!� V5� 'l1?i'M� �• • • 
� o,[;'111�°1'>!! C1iif'l cGl�L� I F, generation 1i1 '11,f w<> (�?fr-l �)-:<l<j_ � � I 
q;:;f-1�� l>l!:',lcl !illR<F.!:f-11 al>l>! 'Sf.>."!l 1<1'8<!1 o[Cl!f'ii �tmc! '>.j1''<flR''ll (S�':! • � CQ'f'l] 

(s:,IPlC•l'l, -�,;i ry 

33. Draw neat stages of Hypogcal gcnnination i n  gram seeds showing:
(i) Redicleru1d (ii) Plwnulc.

2 

(i) Rcdicle !ll'.io(:1 (ii) Plu�1ule ""lilt ite 1-Jl:Mfmll"I �•unoawr f!illl'.'m!l lIB'� Jt'ma,ivf id lli!5i
f!!;(? il8'-l't!\11t! JMll'S 11 

(i) Redicle �� (ii) Plumule 'iS�"ll 'Wtl �� � "ll™t!lo\� >N!� ���T"I COITTl� ".if '<l � ­

'lRT-S $13;l' -'1l•mil � I
Answer Question Nos. 34 to 36 in about 50 words each. 

34. S1.11c any three major consequences of deforestation.
!il1li ll!lfi'lll'lllUill"f �,r,;g !ll'.fllw !ll'.liMflll �lflilll' ;31»_! I
�, �"fl'l''r� � �, '51'-'l�� � � I

3 

35. "The human lungs arc designed to liave 111aximrn11 surface area for 1:xchangc of gases.·· 
Explain with three points. 3
'llil<II'nll'f �'lfar qr(')f !EBM tf.'ar ttre. 3"'ca!l"mi.111 i!�:r;ll"f 11t•ll'rri rim? lliiarMmi? ci8'1,1,rn·
rn'm:11 �11'>i <?ti:li'tlrc 3illl'Sl 11
·��� � � � � «11�-i �� �-� .g� s1iil �mi �rm�\ 1" 

c�'l, "'l�'<l "1C"llll>l � I
36. How does the constntction ofb,g clams impact at the downstream levels 1 Give any three

pow� 3
� JlRMrm rl-a-� i»t�.,,, Rill8"iliil"f illl'l' i;i;•w 121B'm? Jill(-srp• 1 >r.1':sl!!l' IIP.!= nnri:i 11

\5lC5l'll '5!>lf-:� 'flq.1J ��l:Jl 'l-•HC�l�l:JI � �� � �"f ? c�'i, � � 1

Answer Question No. 37 in about 100 words. 
37. Write any five points of difference between asexual and sexual reproduction. 5 

<.t"(')"lll'l!�"' 11Illi(21D (')"GJ'l!R'� ll'fl\llll'lilll'Mllll"r IEll'lll'l' '.11'1!:l'!• mt'iill'l1 llidxlll' llll'm'll 11
,, rc�oi �� C'l�ClWI f.l!l'i�•l:jj\ � � C''il\'U 'l�f'l'l' � I
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